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AR .24 BB OEH) - NEAY - BAS 0 Ak o8 ﬁlf& HDS2
Ctz 2,880,880 x 1 x12& 34,571
o83z2s¢ 2,871,852
Oxl22LE 7,559,329
- AN2HA2EFE 7,517,482
- 02224 41,847
(OGRSl R 4,253,374
-IExE 884,926
-S0lsd 1,200,000& *30H x12& 432,000
-dI2xEota2 817,440
25 0] & 130,000 149 »12& 232,440
- 208 0| A ~25E 019 110,000& x64H «12& 84,480
- 15E 0l &~20E 01 BF 80,000 2328 x12& 222,720
- 108 0| A ~15E 018 60,000 x190Y 128 136,800
- 54E 0] A ~104 0] 2F 50,0003 235 12& 141,000
-fEZ2fs4 21,600
2= 50,000 *4H x12& 2,400
893 40,0003 x40H x12& 19,200
-9 2gdese 50,400
2E8EUSsS 50,0002 x9H =128 5,400
COES  SAF ZA 250,000 15 «12& 45,000
-Jlsd8E8sg 177,120
532 0] A&t 50,0003 *91H x12& 54,600
-6~ 30,000 *299H = 12& 107,640
8~932 20,000& x62H x12& 14,880
- JI=sdELEIAS 117,840
-l A 50,000& x6H x12& 3,600
- JIAH 30,000& 275 «12& 99,000
AR DI A 20,000& «60H x12& 14,400
SHH 10,000 x7H « 128 840
-—HIHRLE 2,880
AR R2A 80,000& 3 128 2,880
- 0IAHAR 50,000 6 x12& 3,600
- AMMHE 1,080
=10 30,000& *x1H x12& 360
6= 0| ot 20,000& *3¥ x12& 720
- &A= 1,392
SAANE RN E > 1,392
62 0] &t 40,000& x1H «12& 480
2 38,000& x2H x12& 912
- g+ 200,000 x3¥ x12& 7,200
- A ESXgRE 70,000 x55H x12& 46,200




o

>

a= | &l 2te| Al £ A G
M HHS AR (MR
Sl ol ) SREED
AR 2N EH O () - MBEAY - BAS 0 AF o il HZS2
- A SXNERY a3
30,0003 *19H x12& 6,840
-SRI 397,856
-dEN/AE 22,920
1 0] o 70,0003 *13H x12& 10,920
2~34 150,000& x4 x12& 7,200
44 O] & 400,000& x1H x12& 4,800
- uWEiAsY 124,080
-MHABSLRAY 102,000
== 3,000,000 x 15 x12& 36,000
HE Y 2,300,000& x 15 x12& 27,600
ASHOIAFR A 3,200,000& 1Y «12& 38,400
-QEHIRALGY 50,000& *60H x12& 36,000
=L RS =y 1,000,000
O&HZAHI 140,000& *1,236H x12& 2,076,480
OYE S| 3,540,000
-E=2H 35,400,000, 000& /128 x60%*23| 3,540,000
OH I8 At 1,635,317
- SH
27,751,202,000& /128 x78%*86%*1/30% 12! 620,517
-2 Z2H
35,400,000,000& /128 x86%*1/30% 12! 1,014,800
2 JIEA 2 4,445,603 4,113,009 332,594
A H=R2A 2,585,580
— BT H 1,299,554
HEE AP 35 102,708,000& x1H 102,708
g E AR 45 94,920,000 *1H 94,920
- 63 (&) 5,168,036& x9H x12& 558,148
2 (A&Y) 4,656,425 x8H x12& 447,017
- 83 (&) 4,031,705 x2H x12& 96,761
— Al 2EL DA 815,766
= 5,646,800 x4 x12& 271,047
U= 4,633,830 x4H x12& 222,424
- =2 3,888, 1503 65 x12& 279,947
-ct= 3,529,000& x 15 x12& 42,348
-Ex4 27,460
-HgeENe & BN =Y 3,600
g 38 200,000& x1H x12& 2,400
IS E AR 45 100,000& x1H x12& 1,200
-ZU22E 229,327
Azt 224 229,327
- JHZAH| 140,000& *35H x12& 58,800
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o

>

i
x
=2
z
0
0
3

A= JlEel £ MEE
o WES A (M ALY
chel: ol gy
A2 .2 B S(BH) - HRAY - BES il
— It E A
2,047,558,000& /128 x78%*86%+*1/30% 10 38,153
-z Xl 95,520
HYE AR 35 500,000& x 18 128 6,000
NS AR 45 400,000& x 18 128 4,800
- 58 ¢ 400,000 x3H 128 14,400
G T=a = 250,000& *13H «12& 39,000
s oY 165,000& = 13H 122 25,740
-8 &Y 155,000& x3H 123 5,580
—Here syl 50,0003 29 123 17,400
o¥azz 1,860,023
-Jl2s 3,587,4303 *x27H x12& 1,162,328
-&32+¥ 3,587,430& x27Z x50%*23| 96,861
-JtEE 23,040
- =22 292,400
Azt 2e+% 203,438
ortz2f+¢ 88,962
A= DNECS Y 1,920
SIESS 40,0003 x 18«12 480
& 30,0003 x4H 123 1,440
-d2==goas 23,760
254 0l &f 130,000& x5H 123 7,800
- 20~25¢ 110,000& »7H 12 9,240
- 15~20¢ 80,000& x3H 123 2,880
- 10~15¢4 60,000 x2H 128 1,440
5~104 0Ol 2t 50,0003 »4H 128 2,400
- Z U gAY 140,000& »27H » 128 45,360
—-YESOHHl  1,162,328,000& /12& »60%*23| 116,233
— L2 &l
1,162,328,000& /128 «86%+1/30* 12 33,321
- g 2=l 150,000& »27H »12& 48,600
- s 50,0003 *x27H x12& 16,200
204 M R=HAH| 3,173,460
02 22Xl 3,173,460
OggrA 3,135,900
— S XAt 950,000 x 1 128 11,400
— S XA 550,000 x 18 «12& 6,600
-2= 650,000 x3H 128 23,400
-3= 500,000& x18H 128 108,000
—-4= 400,000 x65H x12& 312,000
-5 250,000& =267 H x12& 801,000
- 6= 165,000 x507H x12& 1,003,860




o

>
i
x
=
>
ol
0
i)

A= | &l 2te| Al £ A G
M HHS AR (MR
Sel: o2y (B9 ®R)
AR .24 BB OEH) - NEAY - BAS 0 Ak o8 ﬁlf& HDS2
-73 155,000& 350 128 651,000
-8~92 145,000 «x76H x12& 132,240
-EXNRANSt 22X 300,000& x5H x12& 18,000
-AZ2RA 300,000& x19¥ x12& 68,400
(@) SEES 10,920
s s 250,000& x1H x12& 3,000
— A A} 165,000& x4H x12& 7,920
(@FSEac =) 26,640
-Ji= 250,000& x5H x12& 15,000
- L= 165,000 x5 x12& 9,900
-2 145,000& x 1H »12& 1,740
Plad Y| (Al2FH) 233,236 233,236 0
rag 233,236
101 2121 d| 233,236 233,236 0
hag 233,236
01 2= 233,236 233,236 0
OAIZOUE OHM2ZAl € OIS o124H] 233,236
-6=2 233,236
rag 233,236
S2YH| (MY EATEL) 118,000 114,000 4,000
hag 59,000
o= 59,000
101 @1 21| 118,000 114,000 4,000
rag 59,000
== 59,000
02 JIEtA 2 %= 118,000 114,000 4,000
OAIZFL DI A 118,000
-2 118,000
hag 59,000
o= 59,000
H2AH| (3 2) 52,000 0 52,000
Dl 52,000
101 @121l 52,000 0 52,000
Dl 52,000
02 JIEt& E %= 52,000 0 52,000
QISR 52,000
—dBFAII X 52,000
T3 (AE) 52,000
J| 52,000
=34Hl 441,562 402,185 39,377
Jl 2 AH| 441,562 402,185 39,377
201 Bt A | 32,862 32,175 687




CJlE e A
DA RIAY (M A
:Jl23tl

M ox
40 5 4

Ct 1
S o

+

)

AR 2N EH O () - MBEAY - BAS 0 AF o il HZS2
01 AFR2 22l Yl 32,862 32,175 687
OJI2+=8gtl 19,212
(OPIE=T=2=3:] 13,650
202 (4] 39,340 37,250 2,090
01 2L Y] 39,340 37,250 2,090
OJle0u ] 39,340
204 &2 = A H| 369,360 332,760 36,600
01 MM R-HAY| 369,360 332,760 36,600
O & X A 900,000& *12& »1H 10,800
2 XA 840,000 128 »2H 20,160
OXNXZERZ RS 650,000 *12& 14 7,800
o4, =& 600,000& *12& x15H 108,000
O4& W& 350,000& =128 x53H 222,600
MWRES(MEER) 25,669,729 25,763,657 93,928
WEHAH XK= 25,669,729 25,763,657 A 93,928
WEAHHX = 25,669,729 25,763,657 A 93,928
705 Oll=2 32| 2 4AE 25,669,729 25,763,657 N 93,928
O10l==]24s 19,333,335 18,666,665 666,670
OSEMECHESII =S =2 S 4E 19,333,335
02 Ol ==0l X+ & & 1,010,000 1,624,000 A 614,000
OSEMEAHEFIZ2 W2 Ol KHAE 1,010,000
03 Al - EXEIHEI I SUH =R =4 & 4,886,600 4,886,600 0
02009 XL NEAH 2HE Xt 4,886,600
04 Al - S XIS 20 ==20] XtHAHE 439,794 586,392 A 146,598
02009 XIZWEAN Z2HE e 439,794




N = 0 &8 AH Y H N AN
20229 & 20l & LB H JIE2e A ~ J|E2ela
NERS P SN HNZZZR
HE: GEHR 25
SR KYAS 25 (29l 8)
AR 2N EH O () - MBEAY - BAS 0 AF o il HZS2
MEE 2 627,892,706 466,379,753 161,512,953
= 1,234,411
[ 626,658,295
=T &= 1,981,839 2,204,580 N222,741
= 1,234,411
T 747,428
NeA= &5 1,981,839 2,204,580 N 222,741
= 1,234,411
= 747,428
GNESH 747,428 983,417 A 235,989
201 LEt2 Y| 77,000 92,650 A 15,650
01 AFR 22l dl 70,600 72,350 A 1,750
OXNZLAM HEE HE S ME 2234l 30,000
OLNHEHEN S SMMXE =2 11,000
-=28HAHEE M3 SX RE= 5,000
-Z2HAEE H8 Z3xx2 6,000
OdHE & JIEE2H AJNEES I M & 15,000
OXNLASAH MNDEHSF oL XA M 6,000
ONZ=+g MEX MEFE ZIMUIA AIES 5,000
OXNgA X &F3U =< 1,000
OE=SHMEZLY s &4 2,600
03 HAFS S HI 6,400 20,300 A 13,900
OS=EMEZZE HAl 6,400
202 (4] 20,000 56,000 A 36,000
01 2L Y| 20,000 20,000 0
OXNYM MEH e+ S MBIR =A 10,000
OXNEM HMREA SR2F& 10,000
203 YR = T b 5,000 5,000 0
03 AIHZ=X SR =AH| 5,000 5,000 0
OXNYgM SRF=X S 5,000
204 &2 = ZF H| 24,000 22,800 1,200
03 SEYRZHI 24,000 22,800 1,200
ONREYsE& 24,000
301 dEtE X = 800 2,000 A 1,200
09 HAIAHI X &= 800 2,000 A 1,200
OS=MEZH M=zl 800
303 A2 29,000 30,500 A 1,500
01 ZAaZ 29,000 30,500 A 1,500
OXNYHM AN A2 A2 19,000
OMEBIR AWM Z2H 24 AMAS 2,000




DolEEey SA HEgZR

P REHE &

M ox
40 5 4

=
RN =S (298 R)
. - 4 14
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2

OAMeI+2 SREI RFAZ AMES 8,000

306 =3 158,896 139,552 19,344

01 &3 158,896 139,552 19,344
OXNZNERE EAS 158,896

308 A EHHSOIA 30,464 31,226 AT62

1132 SoHUHSI S HAE ALS HI 30,464 31,226 AT62
OEEXNLAHA+=LZTBAALE A2l 23,394
OXMIC RNYMBEANAE 2= FAE 7,070

403 A X EHHS =0l A 402,268 603,689 A 201,421

02 BJI2SHUE =R AAE AL 402,268 603,689 A 201,421
OXMIH XNYHEEAAL 25 (26H) 402,268

HE FEILHZ A 1,234,411 1,221,163 13,248
= 1,234,411

308 A EHHSOIA 1,234,411 1,221,163 13,248
= 1,234,411

01 HIXNHHNBHNEELES 1,234,411 1,221,163 13,248
OMEFEINASAl =& 1,234,411
= 1,234,411

2 458,007,327 306,403,633 151,603,694

TUF3 u: 22,901,760 19,164,390 3,737,370

o FFuEs we 22,901,760 19,164,390 3,737,370

308 AHXIEHHSOIA 22,901,760 19,164,390 3,737,370

02 8+=uT= 22,901,760 19,164,390 3,737,370
OF+WRI(2022F XM H2==2) 22,901,760

LS = ME 435,105,567 287,239,243 147,866,324

EIEATS M =M 435,105,567 287,239,243 147,866,324

308 XXM SO0 A 435,105,567 287,239,243 147,866,324

04 Al -Z2Z2ENES 435,076,427 287,208,863 147,867,564
OBz NLZ (20229 XYM E=+=2) 435,076,427

06 Al - ZJIEFTHE = E b 29,140 30,380 A 1,240
OAl - @ JIEtHEEZH (AL EHEEZ) 29,140

= MHEXEH 167,848,000 157,716,000 10,132,000

WM &85 167,848,000 157,716,000 10,132,000

LUSAH =N V=S 167,848,000 157,716,000 10,132,000

703 NRHISEIIHEES 167,848,000 157,716,000 10,132,000

01 HBEdE= 167,848,000 157,716,000 10,132,000
OXNgusAH &N 167,848,000

2IIH(MEEL2) 55,540 55,540 0




M ox
40 5 4

= 2tel A 2AXHNEE

DRI ZIH(MEEER)

»Jl23l (&)
2 2A B E(AN) - MEAY - BYS il HlnE2

=3l 55,540 0

Jl23Hl 55,540 0

201 Let24d] 17,740 7,500

01 At 22/l 17,740 7,500
OJle=+=&Hl
OPIE=1i:]

202 odl 37,800 AT,500

01 = LH o4 1l 37,800 A7,500

OJ1=0dHl




N = 0l & At & M A

20229 =0la e D2l ~ Il &M

N SISIEETEIPN SRR -TEE-E1==5
Ha: HUFM Y Axe s
SRl MEIM AAY 23 (B9 ®R)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
FEFMGH2 123,686,192 99,081,665 24,604,527
= 28,075,645
< 95,610,547
FEEM o Ldxtel =t 27,085,496 18,721,792 8,363,704
= 12,709,998
< 14,375,498
HEAFM AIAEH 25 957,651 810,775 146,876
= 25,000
< 932,651
FEEHO HER JIRF 97,300 18,000 79,300
201 Let24E] 14,300 15,000 A700
01 At 22l 14,300 15,000 A700
Ot & ==ZHl 8,000
OBEXNANYE 222 WA 6,300
203 YR =&l 3,000 3,000 0
03 AIBFZAH S =AY 3,000 3,000 0
OHUAEM ALEX 3,000
207 A RO 80,000 0 80,000
01 284 80,000 0 80,000
OHM2x 5= dFd8X JI=HE =8 80,000
FEXE UWERAT Zst=24 825,351 764,775 60,576
308 X EHSOIA 825,351 764,775 60,576
113/ 2SoHUHSBHEAEALS I 825,351 764,775 60,576
O&s HUEs|ddH 29 725,351
OF=Z4E=A 100,000
FEI3sH 243 A g 35,000 28,000 7,000
= 25,000
< 10,000
308 MXIEHSOIH 35,000 28,000 7,000
= 25,000
< 10,000
01 HXNHHBHELS 25,000 20,000 5,000
OBISSH #43 MY 25,000
= 25,000
3 2S00HetE & XA E A HI 10,000 8,000 2,000
OZIESSH 43 MY 10,000
FH el & 26,127,845 17,911,017 8,216,828
= 12,684,998
< 13,442,847
FESLHGXA 237,400 243,000 A5,600
307 21201 A 60,000 40,000 20,000
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ARSI EEEIPN SRR -TEE-E1==5
My HUEH 9 aXel s
& FELiel =i (&)
AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
02 It M AHE L 60,000 40,000 20,000
oustdxeldy X (Hs) 60,000
308 XtXIEHH SOl A 177,400 203,000 A 25,600
11 3I2SOIHetE & X 2 AL I 177,400 203,000 225,600
02030 X¥=E MUEXE 62,000
OFYE HII 223 At Y 115,400
FUHA=SLHAA 683,300 683,300 0
308 XXM SO0l A 683,300 683,300 0
N 3JN2SUHUe3AHAE A 683,300 683,300 0
OHE=IXNSE FE22X 25X 440,000
OFYLRel 2=71g XA 243,300
RS E=guPNEC] 180,000 180,000 0
308 AXIEHHSOIA 180,000 180,000 0
113 2SoHUHSBHEAEALS I 180,000 180,000 0
O&FY &g g4dst =22Y 29 180,000
SEHeNMY d2HA0d HEXH 1,256,324 1,582,220 A 325,896
= 613,162
< 643,162
308 XXM SO0l A 1,256,324 1,582,220 A 325,896
= 613,162
= 643,162
N 3JN2SHUe3AEAE A 1,256,324 1,582,220 A 325,896
Os=SdzaMY d2208 HEXH 1,256,324
= 613,162
< 643,162
FE el 2018 dEME N 764,682 1,093,854 A 329,172
= 361,091
= 403,591
308 MtXIEHSOIH 764,682 1,093,854 A 329,172
= 361,091
< 403,591
M 3IN2SUHUEE SRS A 764,682 1,093,854 AN329,172
OFELRel =71 ¥EME XN 764,682
= 361,091
< 403,591
ABEY dE S Xel N 723,872 781,942 A 58,070
= 348,336
< 375,536
308 A EHHSOIA 723,872 781,942 A 58,070
= 348,336
< 375,536
113/ 2SoHUHSZSEAEALS I 723,872 781,942 A 58,070




A= J|E 22 A e = R PSS =
Ha: HUFM Y Axe s
R U dxiel &0 (2 &HH)
- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 %Eﬁ HR=2
OAEEY HBELXE XS 723,872
2 348,336
= 375,536
ES=SQ0IM XYoot T2 NME 452 668 665,062 A212,394
= 222,759
= 229,909
307 2I2t0| & 452 668 665,062 N212,394
= 222,759
& 229,909
02 Q2B AMAIE E =X 452 668 665,062 A212,394
O3 XNYgGots Tg2ME 452 668
= 222,759
& 229,909
s= FUEoM 958 X2l X 3,257,692 4,816,320 N 1,558,628
= 1,614,446
& 1,643,246
308 XX SHHSOIH 3,257,692 4,816,320 A 1,558,628
=2 1,614,446
o= 1,643,246
11 BI2SUHUEEAEAE AN Y| 3,257,692 4,816,320 N 1,558,628
O&F= HUQM ¢58 LXel A& 3,257,692
= 1,614,446
= 1,643,246
EE JI&E FEINMY dEHAd e N 1,917,124 2,593,928 NB76,804
2 958,562
== 958,562
308 XHXIGH SO0l & 1,917,124 2,593,928 NB76,804
=2 958,562
= 958,562
11 2I2SHUSHEAXERAEASH] 1,917,124 2,593,928 ANB76,804
Oss &8 HEldE mEdxel XN 1,917,124
= 958,562
o= 958,562
EXNSXINY HFEHLXel K& 911,784 563,648 348, 136
= 455,892
= 455,892
308 XHXI &M S0 & 911,784 563,648 348,136
2 455,892
& 455,892
11 2SI 2SHUSEANE A 911,784 563,648 348, 136
OEXNEXIY 3ELXel A& 911,784
= 455,892
= 455,892
ADIEZR MZESA A2 YEX 622,456 0 622,456
= 311,228
= 311,228
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ARSI EEEIPN SN HUEHSYE
o 3EE Q ANl
Sl ZuEUXtel =y CERED
% - 4 14
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2

308 X EHSOIA 622,456 0 622,456
= 311,228
& 311,228

113/ 2SoHUHSZHEAEALS I 622,456 0 622,456
OANEZE MESY FEAR20Y WEXH 622,456
= 311,228
< 311,228

ANEF=Cy HFHLREl AF(AlZ) 1,657,193 1,573,019 84,174
= 1,329,247
< 327,946

308 XXM SO A 1,657,193 1,573,019 84,174
= 1,329,247
< 327,946

01 AXHHBILEES 1,657,193 1,573,019 84,174
OXSx=cd FHUel At (AIZ) 1,657,193
= 1,329,247
< 327,946

S =84y dELdRel X 4,285,000 0 4,285,000
= 2,082,500
< 2,202,500

308 XHXI &M S0l & 4,285,000 0 4,285,000
= 2,082,500
< 2,202,500

1132 SoHUHSI A ALS HI 4,285,000 0 4,285,000
OF= Olfi==84y FFL el & 4,285,000
= 2,082,500
=) 2,202,500

= J=2301Y ¥2o1y dXtel XA 4,285,000 0 4,285,000
= 2,082,500
< 2,202,500

308 XX EHSOIA 4,285,000 0 4,285,000
= 2,082,500
< 2,202,500

113/ 2SHUHSZAEEALS I 4,285,000 0 4,285,000
Os= J=23J|g 8224 gXtel X 4,285,000
= 2,082,500
< 2,202,500

SSEY Yo NIed”r K2 484,300 0 484,300
= 236,250
< 248,050

307 21201 A 484,300 0 484,300
= 236,250
< 248,050

02 YAFAAFEX 484,300 0 484,300
OESHE syl NAB XA 484,300
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DolE el A M E e
-TEE NI G=TE
CEEYRe =2 ol A Q)
= - — SHE]|
2. 2A B E(3) - MEAY - B Ol &k o8 il HlnE2
= 236,250
= 248,050
=2 Y =848 85 Z2HE 1,609,000 1,609,000
2 787,500
< 821,500
307 glz2tol & 1,609,000 1,609,000
= 787,500
< 821,500
02 (It HAMHEE 1,609,000 1,609,000
OF= Y D=Ly Mt T2HE 1,609,000
= 787,500
< 821,500
=2 ICTsEAT 0I3H 8228 MHEXA 587,500 587,500
=2 283,750
< 303,750
308 XXIEtH S0 A 587,500 587,500
= 283,750
< 303,750
N 3IN2SUHUS3 LS A 587,500 587,500
Os=2 I(Tsgad Ol8H 822 WE 587,500
= 283,750
< 303,750
SAdFAY OXNE gELXel X 700,000 700,000
= 337,500
< 362,500
307 21201 A 700,000 700,000
= 337,500
= 362,500
02 IS AT ELS 700,000 700,000
OsMgFaY CIXNE 3ELRtel XA 700,000
= 337,500
< 362,500
HEAMTO HASE X 1,281,750 1,281,750
= 574,875
< 706,875
308 XXM SO0l 1,281,750 1,281,750
= 574,875
< 706,875
113/ 2SHUHSZAEEALS I 1,281,750 1,281,750
OzdEaazol FHdE N 1,281,750
= 574,875
< 706,875
HEARY ABEY S 230,800 230,800
2 85,400
< 145,400
307 21201 A 230,800 230,800
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AENSIEETIRN SN HUBHGYH
Ha: HUFM Y Axe s
Sl ZuEUXtel =y CERED
- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 %Eﬁ HR=2
= 85,400
& 145,400
02 QIZ2IA AAIE E X 230,800 0 230,800
OFGEEA AFIEY BEIX] 230,800
= 85,400
= 145,400
HESX - NESM2E2 USIIEtXY 20,585,136 3,740,656 16,844,480
= 15,365,647
=} 5,219,489
HUE=EX 24 S 5,895,710 2,069,780 3,825,930
= 2,610,000
=} 3,285,710
A24s 2EEY 23t X4 2,399,660 2,069,780 329,880
201 et 5,400 6,800 A 1,400
01 AP 2t 2] d| 5,400 6,000 A 600
OES=dHEZEZ2HAYE E22 ME 5,400
308 XX SHHSOIH 2,394,260 2,062,980 331,280
01 AIXSHMEMNEX= 2,394,260 2,062,980 331,280
O=S=d=EZEZ M ALY 2,394,260
HUESAMN XS AS 3,496,050 0 3,496,050
= 2,610,000
&< 886,050
308 XHXIEHSOlIA 3,496,050 0 3,496,050
= 2,610,000
& 886,050
01 AIKSHHEMNEX= 3,496,050 0 3,496,050
OFEEMN XSAS 3,496,050
= 2,610,000
o= 886,050
HYE MEON XA 23t 84,380 86,000 A 1,620
HUE 2ANLA As3=2 I 20,000 26,000 A 6,000
308 XAXIGHMSO0I& 20,000 26,000 A 6,000
11 BI2SHUSEANRE AIS Y 20,000 26,000 A 6,000
OFYdE BAMMSAH(SNHIUE)IA=23E2 X 20,000
Hetd &t Xt3 Ol A XI& 64,380 60,000 4,380
308 MXISHMSOIA 64,380 60,000 4,380
01 XHHIMNEEXTZ 64,380 60,000 4,380
OsrM stxt=2 0olAF X & 64,380
Ol IR EXHS S 16,000 0 16,000
S22 H Jix 16,000 0 16,000
201 et d| 16,000 0 16,000
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AENSIEETIRN SN HUBHGYH
Ha: HUZT - HEN2Z HSIIBEL
Sel: DlcH d22EEs HE (Sl & &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
03 A2 I 16,000 0 16,000
OF=S7EE M 16,000
IR EM e XA AE QAL =tat 166,996 116,996 50,000
= 27,647
< 139,349
MAXZO0 s ALY 10,000 10,000 0
307 glz2+ol & 10,000 10,000 0
11T MISXASEX 10,000 10,000 0
OdIAXZO0 WEAE XA 10,000
IIEZS 2328 ALY 22,500 22,500 0
307 21201 A 22,500 22,500 0
11T M3 SXAISEEX 22,500 22,500 0
OJt=&st 248 A K& 22,500
OIAZH e =8 AAINE A 45,000 45,000 0
307 21201 A 45,000 45,000 0
11T ALS S XAEE = 45,000 45,000 0
OUFEZH S &=l AL ALY K& 45,000
=2 MEH 2= AU 2 39,496 39,496 0
= 27,647
< 11,849
307 glz2tol & 39,496 39,496 0
= 27,647
= 11,849
11T M SXAIS EX 39,496 39,496 0
== ML =5 AUz X 39,496
= 27,647
< 11,849
SNS0L S JIg=2s =4 Z2RE 50,000 0 50,000
307 21201 A 50,000 0 50,000
11T MISAASEX 50,000 0 50,000
LIIZLE Asl 25 X4 Z2HE 50,000
=X & 42w X 14,422,050 1,467,880 12,954,170
= 12,728,000
< 1,694,050
SNSRI 566,350 1,460,880 A 894,530
308 MtXIEHSOIH 566,350 1,460,880 A 894,530
01 X HHBLEXS 566,350 1,460,880 A 894,530
OsUL=RNES 566,350
IRAIE BE 6,700 7,000 A 300
201 ¢er24| 6,700 7,000 A 300
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AENSIEETIRN SN HUBHGYH
Hu: HUSK - HEAM22 SIIBEY
Sl 42K 4 B4 - 5 X CERED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
01 At 22l 6,700 7,000 A 300
Ol AIM 222 M 6,700
HotgolE2d XA 13,849,000 0 13,849,000
= 12,728,000
= 1,121,000
308 XXM SOIA 13,849,000 0 13,849,000
= 12,728,000
< 1,121,000
01 AXHHILEES 13,849,000 0 13,849,000
oxgtgolsd X& 13,849,000
= 12,728,000
S 1,121,000
70 & =50sus & 59,317,445 60,955,914 A 1,638,469
NEHEXH 59,317,445 60,955,914 A 1,638,469
NEHERES 46,035,180 36,602,640 9,432,540
703 NSHISEIAHTES 46,035,180 36,602,640 9,432,540
01 HENMES 46,035,180 36,602,640 9,432,540
OusMHENE=s 46,035,180
St g Al k& 12,761,613 23,803,421 A 11,041,808
308 MXIEHSOIH 12,761,613 23,803,421 A 11,041,808
01 HXNHHNBHELS 12,761,613 23,803,421 A 11,041,808
Ox-3-1-5+s1 2434 & 12,761,613
nsstw f4dws XA 520,652 549,853 A 29,201
703 USHIEEHEES 520,652 549,853 A 29,201
01 HBEd=E= 520,652 549,853 A 29,201
Onsstn a4uE X 520,652
PRS- Rl DY RElE] 710,000 686,000 24,000
NS 001 2o 710,000 686,000 24,000
SSUMHLLEHHE 2 710,000 686,000 24,000
306 2= 710,000 686,000 24,000
01 &= 710,000 686,000 24,000
Os=MHIdMSt == 710,000
HdMansXA 1,005,982 928,172 77,810
BN 1,005,982 928,172 77,810
COEMNEIH 1,005,982 928,172 77,810
307 glz2tol & 100,000 100,000 0
02 It MNAMHEE 100,000 100,000 0
Oots Byu=s 43 X 100,000

_27_




®l
RO
)
R0

= A

<N
Ry
&)
il
~
mr
<

&l OF
%0 OJ

(@) o [aN] [aN] o o o Al <t <t [ee] [ee] (] o o o o o
— — o o (o) o) o] e0) [e o] [e6) (o)) (o)) o o o o o
© © SR SRS S|l |e S S SR NN =

i N~ N~ o | o |~ |~ [~ o | v |y ~ |~ ~ |~ N~ |~ o

N N~ N~ N N[ — | — [~ > | © | © q |« %o}

Ko © [0 [ — | — |— S|e e

e 414« ===

E=]
[aV) o [aV) <t < o o o < < <t o o N~ [ [ N~ N~ o o o
N~ o N~ — — o o o — (<o) © o) [Ye) — — — [eN] [eN] ()] [©)) o
— o — [e ] [e6] o o o [e0) [e] [o6) [0)] [0)] [ep] [ep] [ep] [<e] [<e] [¢e) [de] (@]
o |o © dlalolo o o |~ | < | < o |lo | oo |m < | < o

TR 2 SIS (B8 |8 I8 |8 == N I N e N £

%) o |lo|e oo o |o|o

RS
Al o o o Al (V] (<o) O o o o o (&) o (@) © [ee] Q [ee] (e} [T} o [ee] [ee] o] N~ — N~ N~ N~ N~ N~ [aN] Ye] o o o o
o] o o o o] [e o] — — Al Al Al Al N~ o [Te) ()] <t <t <t (o)) [Te) o <t <t <t <t o — — — [qN] Al o (V] [©)) (o)) ()] o
S S8 S © |l o |B|B|n B o Bn ©IN|0|0 AW SIYTIY Y B 0|ln|xn|d|f 6 0|0 |0 0|3
Y] o o o [Te] Y] Ye) Ye) [oN] Al [oN] Al © N [ap) [ap) o (@) o o N~ o [N} [N QA < N~ (o6} o0} o0} © [<o] — < — — — o0}
o [eV] (<o) [¢e) (o] [ee] ()] ()] O O [de) [{e) [eV) N~ (o) ™ [Ye) Y] o) M~ N~ o o] [ee] [e0) Ye) (V) o) [Ye) Ye) N N — — [ep] [ep] ™ [N}
> = SN | @@ |@ |0 o o o F|0|o|e o - 0 & T - = 0

3l Tl - —Tl2le2leg 2 0@

<

=)

or

=)

Bl o0

. =

al 30

=< 0p

s e

< 80 ar

~ 0K K] Mw

= d] o d H

o] o 100 = = o \r@

= Ki = = _ OE wo

o |= |H o G o 5 5 00 0 o

ol S | E = |2 2] o 30 g & 3 =) 0

. uo | o 20 %1 ylo = OH o | oK - 0 = mo S|z o =gl e

2Ol |= 0 on = ior x EREIRED 30 7= W 3 | B |m < R e

R |o I al I 0 oo |3 ob SR o | o0 | A I s W5
— | = b | = = | = | = = | = &0 ol — —_ | = = | K0

. R |R Ko R Ko I S| o) |l I AR Ko [ N o [OF & el R

= = =1 O | P =4 O Al | ol | MO gl |al O o | O s (i O 20

¥ |85 o G Uls|g 518 R0 = = N5 —
1) = | ®» W ® 30 X x o

: ol Ko Ko 0H el

rr 3r R0 oF

w{ =4 ) =

_28_




N SISIEETEIPN SN HumMggR
o RS (HEFMLLR)
2 LHEHHX S (CHe &)
- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 %Eﬁ HR=2
WEAHAXI= 528,000 468,000 60,000
LHEHeH XI= 528,000 468,000 60,000
705 Ol=2 2| 24aE 528,000 468,000 60,000
04 Al - S X YIHED| S0 2=20] XHakE 528,000 468,000 60,000
OXEHeIN2 A2 0l XA E 528,000
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N = 0l & At & M A

20229 =0la e D2l ~ Il &M

NERSIEE-TIN SN Hesdsg
HY: HRSHHF P
Sl HHEI 2L (S &2)
AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
S PN 864,004 955,046 A91,042
HESHHZRE 738,960 813,479 AT4,519
M E 2 62,250 215,650 A 153,400
HRHEE 2N 62,250 215,650 A 153,400
201 L2l 38,250 42,650 A 4,400
01 At 22l 38,250 42,650 A 4,400
OAOIH REHELEY 29 1,250
Ol REgHEAEA 2Y9 4,400
OHEdg 822 MH 1,800
O2FHARAE 29 30,800
403 XM S A= 0l& 23,000 170,000 A 147,000
02 SO 2SOICHsH 2R 2 E A I 23,000 170,000 A 147,000
OFQUENHE XXNLYHEHS 2= 23,000
405 TtabF S| 1,000 1,000 0
02 TN 1,000 1,000 0
HE A TA P 1,000
-t s 400
-HENH 600
HEIAMHE 2 221,232 223,549 22,317
STE s2HE 28 221,232 223,549 A2,317
201 Let24d] 214,232 216,549 A2,317
01 At 22l 214,232 216,549 A2,317
OLsA&8$42 80,000
OFNMYHEEMS OlEx=2 13,662
Os&X sRu= 1,000
OdHFMERRS 29 93,070
O=34dele E= 2,500
OL=2HSAM ¢ 24,000
202 oddl 1,000 1,000 0
01 = LH o4 1l 1,000 1,000 0
Oas+8 0t 1,000
203 YR =& 3,000 3,000 0
03 Al =AY R =& 3,000 3,000 0
OdEAE L A2HMARRAS 3,000
303 L& 3 3,000 3,000 0
01 243 3,000 3,000 0
Oxs8A 243 3,000
SHIZAZZ 455,478 374,280 81,198
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SSIEEEIN
IEEES EEE
L ENFNEE

CRA - FB - BRA(BH) - MR il Bl RE2
=08 SAHAMEIA W3 27,300 29,300 A 2,000
201 £B-2d| 25,500 27,500 A 2,000
01 At 22l 25,500 27,500 A2,000
OBt & ==ZHl 25,500
202 o4dl 1,800 1,800 0
01 = LH o4 1l 1,800 1,800 0
OSHZE A 04| 1,800
SE=ET MM A 153,670 68,343 85,327
308 XtXIEHHSOIA 153,670 68,343 85,327
01 X HHILEES 153,670 68,343 85,327
O AL HI = A 153,670
SEST M3 A 274,508 270,637 3,871
201 Let24d] 22,000 22,000 0
01 At 22/l 22,000 22,000 0
Ot & ==ZH 22,000
202 O4dl 1,550 1,550 0
01 = LH 4 1l 1,550 1,550 0
OAE Z A 04| 1,550
308 XtXIEHHSOIA 250,958 247,087 3,871
01 AXHHILEES 250,958 247,087 3,871
O A3 Z AL 250,958
AHIE € HIdFEE S8 NY 14,200 32,700 A 18,500
THOE - RIHEY FH 14,200 32,700 A 18,500
S0l M2ots #HMHMNL - A 14,200 32,700 218,500
201 et 8,000 10,000 A 2,000
01 AP 2teltl 8,000 3,000 5,000
ORMIE & H=dd 233 29 3,000
ONIYH MF =2 29 5,000
202 044l 1,500 16,500 A 15,000
01 SLHOIYI 1,500 1,500 0
OTHMIE, ¥=8F 1,500
203 ¥ S =&l 1,000 1,000 0
03 AIHF=AH 2 =AY 1,000 1,000 0
ORMIMHE & RHMNSEARS 1,000
303 Z& 3 3,700 3,700 0
01 243 3,700 3,700 0
OFRMNE 23X Z4 3,700
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